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Y. Find the indirect form the sentence ‘Thank,
my friends’. www.prebd.com
#, He told his friends thanks.

%, He said thanked to his friends.

. He thanked his friends.

%, He said to his friends thanks. LA
B1: 833 (|UHE Competitive English)

29.Find the passive form of the sentence:

*The news will shock you.’

2. You will be shocked at the news.

%, You will be shocked by the news.

. You will be shocked in the news.

%. None of them T¥
*81: 80¢ (WUFT Competitive English)

2 Fill the gap in the sentence: ‘He was so
absorbed ... his book that he didn’t
notice the time passing.’

%, with % 10
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o, in “hy B
*[BT: 33© (WE Competitive English)
3».Choose the correct preposition to
complete the sentence: *The tree has been
blown ... by the storm.”
. off . away
. up W, out B«
*1: 33 (%LFE Competitive English)
wo.Pick appropriate word and complete the
sentence: They traveled ... the mountains
to reach the remote village.”
«, across . over
*f, through 9. around 3.«
*B1: 388 (WS Competitive English)
©).Choose the correct meaning: He raised
his eyebrow at my explanation.
#. show agreement . show happiness
o, show indifference
9. show surprise or disapproval LA |
B L8 (WMFT Competitive English)
©3. The antonym for *‘Recalcitrant’ is-
. Compliant 4. Passive
. Indifferent ¥, Careful B=
'ﬂlz 920 (S9E Competitive English)
©2. The synonym for *Obdurate’ is-
#. Deceitful <. Stubborn
1. Sly €. Swindler B
*l: 953 (SE9T Competitive English)
©8.The term ‘Genesis’ is same as-
#. Introduction 4. Preface
. Beginning . Foreword R
*B1: bbrd (RIS Competitive English)
©¢.Which of the following is the opposite of
the word *Ingenious’?
#. Crafty 4. Inane
. Incompetent . Skillful B
*B1: 908 (WIFE Competitive English)
ov.Running is a good exercise.
‘running’ is-
#, Participle % Gerund
. Adjective % None of them €. ¥
1*1: Y00 (JWFE Competitive English)
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©4.Fill in the blank with right option: ‘I am
looking forward ... you.'
*. 10 seeing #, seeing
1. to see W to haveseen ET.®
*B1: oud (RAFE Competitive English)
ob.Select the correct sentence from the
following options:
#. The man was tall who stole my bag.
%. The man stole my bag who was tall.
. The man who stole my bag was tall,
%. The man was tall who is stealing my bag.
B
*1: @ye (REE Competitive English)
@».Fill in the blank with correct phrase: ‘He
... arrested if he had tried to leave the

country.’
=, would ¥, could be
. must be %, would have been B, %

*B1: 83d (%L Competitive English)
80.The expression ‘after one’s own heart’

means-

#. 1o be in low spirit

=, with complete devotion

. to one’s own liking

¥, to be in high spirit T

*BT: Loo (J455 Competitive English)
85.Which one of the following is the analogy

of COBBLER : SHOE? www.prebd.com

% Jockey : Horse % Contractor : Building

. Mason : Stone  ¥. Cowboy : Boot T %
83.The analogy of SLAPSTICK : LAUGHTER

is-

#, Fallacy : Dismay ¥. Genre : Mystery

. Satire : Anger %, Horror : Fear 3.9
89.Which of the following resembles

DISTANCE : LIGHTYEAR?

% Liquid : Liter % Fame : Television

. Bushel : Com ¥, Weight : Scale ¥. %
88.Which one of the following spelling is

correct?

#. Beaurocrat %. Burocrat

*f. Bureaucrat 9. Buroucrat B9

*¥1: Qo (SLFE Competitive English)
8¢.Choose the correct spelling from the

following:

@, Rebelious %. Rebelicous
. Rebellious 9. Revellious .
BT: Qb (JFE Competitive English)
8%, The phrase ‘Prima facie’ means-
%, Primal face %, Primitive man
*f. Main facilities ¥, At first sight €. %
*B1: a9 (WLFE Competitive English)
849.Which of the following words is a verb?
. interest <. intellect
. interim ¥, intention T3
“1: ©30 (WO Competitive English)
8. Which of the following is not an

adjective?
%, humble <, humour
. humane ¥, humid T

“Bl: ©od (WE Competitive English)
8».Pick appropriate word and complete the
sentence: ‘We asked him why he ...

telephoned earlier.’
#. did not %, has not
. had not 9, would not B ou

“fBl: wu8 (WE Competitive English)

2o, Select the most appropriate option to
complete the sentence: *The price of daily
necessaries increases by... '’

#. hook or by crook . fits and starts
o1. the by . leaps and bounds ®. %
*B1: Lo (WITS Competitive English)
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q
qd.In which vear, Bangladesh did become a
member of INTERPOL?
®. 1992 ¥ 1972
o, 1996 |, 1976 3.9

oBT: Set (HuTe e famuraf; ob FoEe)
92.0ut of the following countries, which one is

the first to give recognition to Bangladesh?

. Poland <. Senegal

of. Iran W, Iraq 5T

B1: S (SIS Arenr Framaf: ob svsad)
99.Borobudur’ the world’s largest

Buddhist temple and a UNESCO World

Heritage Site, is located in-
#. Indonesia 4. Egypt
. South Africa % South Korea &«

oBl: 33 (WIS WiHHE el CTHva-2030)
98. The hottest month ever recorded on

Earth was-
%, June 1968 4. July 1968
. June 2023 €. July 2023 Ty

q9¢.The 2024 Summer Olympics will be
hosted in-
<. China <. France
. United Kingdom %. United States . %
qu.For the first time in football history,

which country initiated a ‘white card’ in
a match? www.prebd.com

= UK . Brazil

5. Portugal 9. Argentina T. o
94. The driving force of an ecosystem is-

#, Carbon Mono oxide

% Biogas

. Solar Energy %, Carbon dioxide ©. o
9. Which region of the Moon is known as

the *far side of the Moon’?

=, Equator 4. South Pole

f. Noth Pole €. Great Spot By
9. The Orange River flows in-

<. Indonesia <. Egypt

. South Africa | Mexico .o

R1ax & TrENT ¥ SRRT AT W eE
Rrfare eery S5 & 157
BT WIS R
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vo.Which tribe endures as one of the last
Indigenous bastions found deep within
the Amazon Rainforest?
=, Piripkura <, Yanomami
. Cirta Larga 9. Chiguitano LA
3. Which organization urged to ban the
worldwide use of smartphones in schools
in order to curtail classroom disruption

and  enecourage  better  learning
outcomes?

%, United Nations % UNESCO

. UNICEF %. None of these & %

*BT: Yo (RE W& *RE CTHve-2039)
w3, Which country is cooperating to

implement ‘Bangladesh Delta  Plan,
2100°?

=. Beigium 4, Denmark

. USA %, Netherland LA |

ofBT: 329 (ST AT frawrafe: o8 AUEET)
vo.‘All parties state language movement

committee’ was formed on-

#, |8 February, 1952

%. 20 February, 1952

. 2 February, 1952

%. 31 January, 1952 B

oWT: b (ST AT forat; of Hesa)
v8. The famous Satire ‘Gulliver's Travel’

was written by- www.prebd.com

#. 1K rowling %. Jonathan Swift

. William Shakespeare

W, Jane Austen B.v

“fB1: e (%05% Competitive English)
ve. According to the scientists, how many

galaxies are there in the universe?

*, 10 million <. 100 million

. 10 billion %, 200 billion Bw
v What is the name of the deepest lake in

the world?

#*. Tanganyika 4. Lake Vostok

*f. Baikal %, Hakaluki B o

B Y90 (KT wnelfes frarafe; o sose)
4. The book title *“Memories Never Die’ was

launched as a tribute to-

. Atal Bihari Vajpayee

% Dr. APJ Abdul Kalam

BT Recent Job Solution

. Bangabandhu Sheikh Mujibur Rahman

9. None S«
vir,. Which country’s written constitution is

the longest one?

%, India % Germany

. France 9. Monaco LA

oB: @ (W WraEifee frmmaf: o wose)
va.In which year, Kabaddi was adopted as

the national Game of Bangladesh?

# 1971 ¥, 1972

o, 1974 %, 1976 T4
80, What is the date of birth of the national

poet of Bangladesh?

* May 24, 1888 < May 24, 1899

. August 29, 1888 ¥. August 29, 1899T, =
BT Q55 (W[ A ST ALHAT)
»3. What does FTP mean?
@, File Transfer Policy
¥, File Transfer Protocol
9. File Transmission Policy
¥, File Treatment Policy T
o1 233 (S w0 @ wuy 2fy)
33 Which command is used to search

anything in MS-Word?
%, Shift + Find % Alt+F
o, Shift + F % Cul +F LA

oBT: ») (WITE FER ¢ T oY)

»9. Which of the following memories has the
shortest access time?
=+, Magnetic Buddle Memory
% RAM
. Cache Memory
9. Magnetic Core memory T
oB1: 8% (N T ¢ T 2fE)

»8.The ALU of a computer, normally
contains a number of high-speed storage
element, is called-

@, Semiconductor Memory

. Hard Disks

. Magnetic Disks

w. Registers LA |

G & TRFFT 799 srofaq AR ST ¢
X ST AEED T T T
wFe IO ¢ o &FF
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»¢.Identify the language which is maihly
used for Artifical Intelligence-
<. Prolog 4. JAVA
1. J2EE 9C T3
B1: 399 (WS IFEDE ¢ vy «1fE)

»b. The most common bitmap formats are-

=. TIFF 4. JPEG

. GIF ¥, All of the above T. ¥

*BT: 05 (TS FFEEoH ¢ T &4YfF)
»4.Which base numbering system is

commonly used in computer science?

%, Binary 4. Decimal

1. Octal 9, Hexadecimal §©. %

BT: o) (WIS IFFTOE ¢ T )

ab. Which programming language is known
as a ‘low-level’ language?
%, Python 4. Java

»

. Assembly language ¥. Ruby T.oo
BT 333 (WS SfTOE @ wuy ayfE)
»».1f a disk has a bad spot on its surface, the
spot can be called a-
¥, Disk crash 4. Disk error
. Disk scanner 9. Disk sector
Soo.What is the purpose of a compiler in
programming?
. To convert source code into machine code
4, To debug code
5. To creats graphics
9. To manage memory LR

#B1: 3¢9 (TAS FFTOA § T #YfF)
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